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Sr Questions Answers Choice

1 1851's industrial exhibition was opened by:
A. Queen Victoria
B. Indian Viceroy
C. President Rose Walt
D. Henary Eighth

2 Is capitalist planned economy, industrial development is mostly in:
A. Public sector
B. Private sector
C. The hands of Government people
D. The hands of labourers

3 In socialist economy, economic resources are under control of:
A. Government
B. Private sector
C. Labourers
D. Entrepreneur

4 For international Trade, sea transportation and seaports are:
A. Absolutely important
B. Not veryimportant
C. Veryimportant
D. No moreimportant

5 The industrial development:

A. Energy is basic need
B. Nothing is required
C. Land and water is basic need
D. Means of transportation are basic
need

6 After industrial processing lint (cotton fiber)
A. Is preserved
B. Is stored in godowns
C. Is brought into factory
D. Is brought into ginning mills

7 Alfred Weber's Industrial theory was presented:
A. In 1909
B. In 1750
C. In 1850
D. In 1950

8 Rhine-Ruhr valley Industrial Region is located in:
A. Eastern Europe
B. England
C. Southern Europe
D. Western Europe

9 In United States of America, most important Industrial region is:
A. North-eastern region
B. North-western region
C. South-eastern coastal region
D. Central region

10 1851' s Industrial exhibition was opened by:
A. Queen Victoria
B. Indian Viceroy
C. President Rose Walt
D. Henary Eighth

11 In 1851, first Industrial exhibition of the world:
A. Opened in Glasgow
B. Opened in Hyde Park, London
C. Opened in New York
D. Opened in Tokyo, Japan

12 For cotton textile manufacturing:
A. Lint is used as raw material
B. Lint is no more needed
C. Raw material is not needed
D. No struggle is required

13 For Industrial and economic development:

A. Political stability is necessary in
the country
B. Political stability does not affect
C. Political stability is not needed
D. Political stability affects negatively

14 In capitalist planned economy, industrial development is mostly in:
A. Public sector
B. Private sector
C. The hands of Government people
D. The hands of labourers

15 In socialist economy, economy resources are under control of:
A. Government
B. Private sector
C. Labourers
D. Entrepreneur



D. Entrepreneur


